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class Account{

private:
string acc num; // AlZH=
int balance; /Al e
public:
Account(string num, int bal){
acc_num = num;
balance = bal;
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45~ int main( ){

A6 JIAIZTHZ : 1234-5678

A7 JIED d=9Y - seeed

A8 JIOIH = : 1oeeeeH

49 KBAccount acc("1234-5678", 5000, 100000);
58 acc.ShowData();

51 return 8;

52}
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1 #include <iostream>
2 #include <cstring>
3 using namespace std;

4
5+ class Account{
6 private:
7 string acc_num; // HEH =
3 int balance; J/ A ZpEEe
9
1@ public:
11~ Account(string num, int bal){
12 acc_num = num;
13 balance = bal;
14 }
15 const string getAcc_num(void) const;
16 int getBalance(void) const;
17 };
18
19 - const string Account::getfcc num() const{
28 return acc_num;
21 }
22
23 - int Account::getBalance() const{
24 return balance;

25 3}
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27 - class KBAccount:public Account{

28 double trans limit;

29

38 public:

31~ KBAccount(string a_num, int a_bal, double limit):Account(a_num, a_bal){
32 trans_limit=limit;

33 }

34 void ShowData();

35 1

36

37~ void KBAccount::ShowData(){

38 cout << "I HZE . " << getAcc_num() << endl;

39 cout << "&b RFed " << getBalance() << "H"<< endl;
40 cout << "O|A| BtT : " << trans_limit << "H"<< endl;
41 3}

432

43+ int main(){

44 [AZHAZE : 1234-5678

45 /1ED B : seeed

A6 JOIH Bt : 1peees T

47 KBAccount acc{"1234-5678", 5000, 100000);

43 acc.ShowData();

49 return 8;

58}
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4+ class Personq

5 string name;

6 string address;
7 string tel;

8 I;
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1 #include <iostream>
2 using namespace std;

3

4~ class Person{

33 };

string name;
string address;
string tel;

public:

Person(string namel, string addressi,
name=namel;
address=address1;
tel=tell;

¥

void setName(string namel){
name=namel;

¥

void setAddress(string address1){
address=addressl;

¥

void setTel(string tell){
tel=tell;

¥

string getMName(){
return name;

¥

string getAddress(){
return address;

¥

string getTel(){
return tel;

¥

string tell){
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35~ class Customer : public Person{

36 int ID;

37 int mileage;

38

39 public:

48 - Customer(string namel, string addressl, string tell, int ID1, int mileagel):Person{namel, addressl, tell){
41 ID=1ID1;

42 mileage=mileagel;

43 }

44 - void show Customer(){

45 cout << "----- N " << endl;

46 cout <<"0[F: " << getName() << endl;

47 cout <<"FA-: " << getAddress() << endl;

43 cout <<"HAS: " << getTel() << endl;

49 cout <<" HID: " << ID << endl;

50 cout <<"Or 2l Al: ™ << mileage << endl;

51 }

52 };

53

54+ int main(){

55 string namel, addressl, tell;

56 int ID1, mileagel;

57

58 cout << "D E YEHSME :"; cin >> namel;
59 cout << "FAE YEHSIME :"; cin >> addressi;
60 cout << "AHHE YEHEME :"; cin »> tell;
61 cout << "IDE YEHIM I :"; cin >> ID1;

62 cout << "OIE 2R E HESMZ :"; cin >> mileagel;
63

64 Customer c(namel, addressl, tell, ID1, mileagel);
65

66 c.show Customer();

67

68 }



1 #include <iostream>
2 using namespace std;
3
4~ class N1{
5 public:
6 void oper(){ cout<<
7 1
8
9+ class N2 : public N1{
1@ public:
11 void oper(){ cout<<
12 };
13
14~ int main(){
15 N2 n2;
16 n2.oper();
17 1}

"N1's oper()"

"N2's oper()"

<< endl;

<< endl;
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14~ int main(){

15
16
17
18
19
20
21
22
23
24
25
26 }

N1l *pnl, nl;
N2 n2;

pnl=&nl;
pnl->oper();

pnl=&n2;
pnl->oper();

return 8,

Nl1"s oper/()

NZ2"s oper()
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1 #include <iostream>
2 using namespace std;

3

A~ class N1y

5 public:

6 MN1{){ cout << "N1()" << endl; }

7" ~N1()1 25+ int main(){

8 cout << " ~N1() " << endl; 26

9 h 27 cout << "1" << endl;
18 3; 28 N2 #n2= new N2();
11 29 delete n2;
12~ class N2 : public N1{ 10
13 public: 31 cout << "2" << endl;
14 char *aj; 32 N1%* nl= new N2();
15~ N2()4 33 delete ni;
16 a= new char[300]; a4
17 cout << "N2()" << endl; 35 return @;
18 b 36 )
19 - ~N2(){
28 delete[] a;
21 cout << " ~N2() " << endl;
22 }

23 1;
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